10" C515 FLG X FLG

10" C515 FLG X MJ

- 16.00 - -——10.75—— - 16.00 -——10.75——
. = I e — = 7 — ‘ ggﬂ‘_l/ =
. A 2 \
01600 |, |~ IR i $1600 | 01575 12.13 [l %%ﬁw .
~ 12.13 ||/ / L . Toll
18R | ’ Rl
| - - - - : - ‘ LG - 14-4ad
N 24 L
\@ | f - 8.00 - 7.88
8.00 . |
o I | 6 X ©0.88 HOLES i
/ : 12 X 1.00 HOLES 2 X 0.88 SLOTS | ‘
12 X ©1.00 HOLES ~ =1.19 ON 14.25B.C. ON #14.00 B.C. ~ 1.19] 0.67—
ON @ 14.25B.C. . 1300 - FLG END: MJ END: 4507 50 -
FLG END: ANSI B16.] ANSI A21.11 20 /.50
ANSIB16.1 CLASS 125 AWWA C111 '
CLASS 125
10" C515 FLG X TYTON 10" C515 FLG X GRVD
- 16.00 -—10.75— -—10.75—
S ‘ == {&I_,L/} = | /ﬂf 5
u z L cdw /=y cLOW
?16.00 ﬁ/%’ \ J 013.13 12,13 %ﬁ : 110.70 || e
e/ j@ 12.13 % T
o/ 1\ i f
— - - - - 7% : i FLG - GRV
& | D112 X ©1.00 HOLES %ﬁ 6.56 %ﬂj 5 35
\ \ TYTON END: 8.00 8.00 | T
\ = AWWA C111 - i
12 X @ 1.00 HOLES O r 4 12 X @ 1.00 HOLES | 0l
ON @614-25 B.C. -7.72—- 119+ =~ 563 ~=——=3.10 ON (/14.258.C. ~ =119 118 -
FLG END: LG END:
ANSI BT16.1 —8.53 -—6.50—- ?.69— ANSI B16.1 -—6.50—6.50—
CLASS 125 -———16.19 - CLASS 125 -——13.00——-
el iy ——— e
e BT e mer T T Ty




10" C515 MJ X MJ | 10" C515 MJ X TAP

- 16.00 - -—10.75—— - 16.00 _10.76
S s == & ‘ e | %i = L\f? ‘ /g {ﬂ\_l/ —
) $16.00 | D15.75 é |
]575 ]2]3 A CzlL W AN ! —ﬁ C2L W B P
@ * }—,\ §l J/ﬁf ! ?10.92 W}?ﬁ\% 12.1 3_ \ § /f%
\ M - BN - Md ! ! - I - ! — TAP :Z M T
/.88 V_Lﬁ | § K%qg 800 LLJJ /.88
2X 0088 SLOTS == S exvemroes (|
ON 914,00 B.C ’ I 12X ©1.00 HOLES 2 X 0.88 SLOTS 1l 4
VIEND: —~—0.67 ON () 14.25B.C. ON ¢ 14.00 B.C. ~ =137 0.67-
ﬁ\ljvs\lvé\mcﬁl ]1] - 15.50 TAP END: MU END: - 475 -~7.50 -
ANSIB16.1 ANSI A21.11 . .
CLASS 125 AWWA C11] = 14.25 -
10" C515 TYTON X TYTON | 10" C515 GRVD X GRVD
) 16.00 10.75 - 16.00 -~ 1075 -

‘ e e s AT@“
| [ | 1
JJ; : c £10.70 : 12.13 oLBw

0 13.13 - 2IL8W
J/\\ﬂ 12.13 ;g J
L F il
\KJ 2X P1.00HOLES 5, g kﬁ L
TYTON END: ‘ | .

[ JE—
5.35
}— |
4 - A | N
AWWA CI111 | — ~1.18
- 15.44 - 3.10——- —  5.63 — -—13.00—+
- 17.06 - - 19.38 - |
E—
s | oEcas e B 10" C515 NRS RESILIENT WEDGE ALECO
+1/16" ANGLE: £1°  [ESTIMATED WEIGHT | o~ s~/ AN I 7A TsHEETsIZE
1o ig],//zz SRL/J\RDF‘,‘I:\CEHN\SH: llfg‘mn LBS GATE VALVE SHEEOF 21
nRADLS: s ew oo T T 1:5 “Solidworks 20185P2 | 5 D




20

21

OPERATING NUT
WITH O-RING PLATE

2.00 SQ.

1

26.56

Y

23.03 |

21.06

SINEI\

NAD Y

AT

12.13

N1

OPERATING NUT WITH
INDICATOR POST PLATE

1

23.09

21.97

HANDWHEEL WITH

O-RING PLATE

[}

©18.00

26.56

7\

N

25.63

=

L {[]]

/4

SINE)\

AT

T
|
I1
I
{

AP

N

THIRD ANGLE PROJECTION.
STANDARDS: ANSI/ASME Y14.100, Y
TOLERANCES AS FOLLOWS UNLESS O

14.5M, AND Y14.41
THERWISE SPECIFIED.

PROPERTY OF MCWANE CORPORATION.
ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
MCWANE CORPORATION AND [TS SUBSIDIARIES.

DESTRUCTION REQUIRED UPON COMPLETION OF C

MIN DRAFT:

CASTING TOLERANCES

0-4": +1/32"
4-8": +3/64"
8-12": +1/16"
12-18"™ +3/32"
18-UP™: +1/8"
MIN RADIUS: 1/8"

20

MACHINED DIMENSIONS

DECIMALS:
FRACTIONS:
ANGLE:
SURFACE FINISH:
RADII:

+0.005
+1/64
+1°
125 pin
1/8"

OTHERWISE ARRANGED.

| DIRECTED US|
ALL RIGHTS RESERVED.

FINTSHED PT N
RRRRRR

MATERIAL

ESTIMATED WEIGHT

[DESCRIPTION

10" C515 NRS RESILIENT WEDGE

.| GATE VALVE

CLTW

WALWE COLT

[DRW BY:

EEEEEEEEEE

1:5

SSSSSSSSSSSS

Solidworks 2018 SP2

3

SHEET

5

OF

SHEET SIZE

D




R S T \%
. 1
5 2
3 3
4 4
s 5
6 )
1N 1| [ u
5 7
8 8
9 Q ?
[ JJ ] \ AN\ 1
10 4 I/ I/ \I \I A 10
\ )i
\\ /f
11 1
} ( A
12
12
N \ M
13
Q I I
T : : T
H—
A
15
16
J -
17
18
19
20
FINISHED PT N
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 Q%\;/AE’LDEELCS&@%E/E%%EI\;%%OIT%LéGABESF‘ga‘RIOEFS' ARE PROPRIETARY TO -
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [PXREFERENCE - [REVISION cl w
CASTING TOLERANGES ACHINED DIVENSIONS OTHERWISE ARRANGED. ALL RIGHTS RESERVED. D by u,r = |
0-4" +1/32" MATERIAL -.l':"".Llll.- E LD
., DECIMALS: +0.005
2'?24 1?;?: FRACTIONS:  +1/64 10" C515 NRS RESILIENT WEDGE
-12": 116" ANGLE: £1° ESTIMATED WEIGHT SHEET SIZE
91 12-18": +3/32" SURFACE FINISH: 125 pin LBS GATE VALVE 4 21
18-UP™: £ 18" RADI: 178" . SHEET OF
MIN RADIUS: e DRWBY:  |DATE DRAWN : JCHK CHK DATE: ~ [SHEETSCALE .| 5 SO‘FSTWAIR.EdUSED ‘s 2018 SP2
MIN DRAFT: 20 CW 12/2/202 . olidworks 5




I : I ! I

VALVES CONFORM WITH THE
FOLLOWING STANDARDS

e AWWA C515

* NSF 61

e LOW ZINC BRASS STEM AND STEM
NUT AVAILABLE

e 100% DOMESTIC FASTENERS AND
ORINGS OPTIONS AVAILABLE

e OPEN LEFT (COUNTERCLOCKWISE)
AND OPEN RIGHT (CLOCKWISE)
OPTIONS AVAILABLE

e TURNS TO OPEN FROM FULLY
CLOSED: 32

 AWWA MAXIMUM ALLOWABLE
CLOSING TORQUE 185 FT-LBS

e OPTIONAL HANDWHEEL CAN BE
SUBSTITUTED FOR STANDARD 2"
SQUARE OP. NUTS.

e *NOTE: STANDARD HANDWHEEL
SIZE LISTED OUT IN PARTS LIST.**

* MAXIMUM PRESSURE RATING 250 PJlI

ITEM NO. COMPONENT | QTY. SIZE STANDARD MATERIAL MATERIAL OPTIONS
] BODY 1 DUCTILE IRON
2 WEDGE ] EPDM/DUCTILE IRON
3 STEM ] C86700 C99500 (LOW ZINC), 304 SS, 316 SS
4 O-RING 3 #218 EPDM BUNA-N
5 THRUST BEARING 2 ACETAL C26000
6 COVER 1 DUCTILE IRON
7 O-RING ] #452 EPDM BUNA-N
8 O-RING PLATE 1 DUCTILE IRON *INDICATOR POST PLATE*
9 O-RING ] #339 EPDM BUNA-N
10 OPERATING NUT ] DUCTILE IRON C86700, ** 18" HANDWHEEL**
11 STEM NUT ] C87850 C87610 (LOW ZINC)
12 WASHER 1 1/2" 18-8 SS 316 SS
13 CAPSCREW ] 1/2"-13 X 1-1/2" 18-8 S 316 SS
14 CAPSCREW 2 7/8"-9 X 3" 18-8 S 316 SS
15 HEX NUT 2 7/8"-9 18-8 SS 316 SS
16 HEX HEAD BOLT 8 5/8'-11X3" 18-8 S 316 SS
17 HEX NUT 8 5/8" - 11 18-8 S 316 SS

2317 | BLS |11/30/23
- CW 112/22/21

BLS |08/13/21

12/03/20

§>w00
O
=

__ECN DR DATE

CLCW

L | RSO WALVE CO
6 | paCions: £ 1/ed 10" C515 NRS RESILIENT WEDGE
+ ANGLE:  +1°  [ESTIMATED WEIGHT

i%%; SURFACE FINISH: llfg‘mn LBS GATE VALVE 5

RADII:

DDDDD : [DATE DRAWN: (CHK. BY (CHK DATE: SHEET SCALE SOFTWARE USED SHEET OF D
CW | 12/2/2020 1:5 Solidworks 2018 P2 | 5

EEEEEEEEEEE




	BODY DIMS 1
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View58
	Drawing View59
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View63
	Drawing View64

	BODY DIMS 2
	Drawing View65
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View71
	Drawing View72
	Drawing View73

	NRS ASSEMBLY
	Drawing View43
	Drawing View44
	Drawing View45

	BOM BALLOONED
	Drawing View46
	Section View A-A
	Detail View B (2 : 3)

	BOM MATL LIST

